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THREE YEAR BSCS (CBCS) DEGREE EXAMINATION, APRIL 2017
FOURTH SEMESTER
Part II - Statistics (WM)
STATISTICAL INFERENCE

(Mathematics Combination)

Time : 3 Hours : Max. Marks - 75

PART - A
8 -2
Answer any FIVE questions. Each question carry 5 marks.
DT D (FEOLH DIy, (38 (5% 5 Sty en.
(Marks : 5 x 5 marks = 25 marks)

If x, %, ... x, be a random sample drawn from a normal population with mean M, variance
o?. Then show that sample variance is unbiased estimator for pbpulation variance.
Xy Xy .. X, @GR AT (SOEITRY ARy D0 8008 ®OER0EF00 4 DY y® o & Hrodds.
DB (SBEE D)B 5207 23 )88 DAL w0 €D BrHod.
Let x,x,....x, be a random sample from an Binomial population with parameter P. Find
sufficient estimator for 'P’. _ »
X) Xy X, ORD OGN (ST B B0 od oS P & (Krodwe Sorwd P
o5 0BT ER0E. »
Define -
(a) Power of a test

585 By, #8
(b) 1 tailed and 2 tailed test

D8 ) § 8%, B ) § 565
(¢) Level of significance.

FBED FraD DTDOBO[.
® ®

By using NP lemma obtain most powerful test for testing H,: A = Ao against H,: A = 4,
incase of Poisson distribution with parame'te,rv A. .

DTS 1 5§ Jraers dgradod Hoy: A=Ay % 9588%ore H: 4 = 4, S0 5880%060% ©0e
BEHOBRN VIT°® DOHBYS aw&m ESBIrR0Y $8550 9580908.
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10.

11.

12.

Large sample test for single mean.

eoq)ZJ"eg PAETHD B0 WOERFITVS 58550 9580v0&.

Fisher’s 'Z' transformation.

3B 'Z" 3838530 2580908,

For small sample’s ' F'* test for equalityv variances.
O (HBET LD DY yBo DITHSLH ' F' 5850 9580%0é.
Run test for two samples. »
B0t (BT 8O S8 _:)zééoéo&.
PART -B
> - ©
Answer ONE question from each uﬁit. Each question carry 10 marks.
58 AReS 008 2.8 (%) To%0B0. (58 (I 10 BK),e0.
(Marks : 5 x 10 marks = 50 marks) |
UNIT - I’
Explain criteria for good estimatpi‘.
GO BOIT OFETeD HBoVOE.
Or
Explain maximum likelyhood estimation method with properties.
KB S0grms DAY 0BT Z)ge?:) 95809 <‘.Sc°é®o @EroHoé.
UNIT-1I
State and prove Neymann Pearson’é Lemma.

FBR DAHES B0 @;ﬁaoz) DBI*DOBB.

Or

Explain Type I error, Type II error also find Type I, Type II error for the p.d.f

flx)=6e%*, x>0 Hy:6=2, H,:0=1 isa B.C.R when x>1.

36863 80 %50 208K Bodsd ¥o B0 23B0d Sogrigh Frolsd (Soabo f(x)= 6z %, x>0
Hy:6=2, H : 6 =1 eond &80 908 @080 x 21 £ e, Bocss 880 &’ren E0RTH0E.
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UNIT - III

Large sample test for two population proportions.

D) (HOETIOL B0 DAY 508 HBEH dHBoDvod.

Or

Large sample test for difference of standard deviations.

N SRETTIOL) (K DHOTTO [0 BERs 985 9H80M0dk.
)T | & N &
UNIT - IV

Explain z?-test for independence of attributes.

Somm BIKBE 72 5850 9980908
S

Small sample 't' test for 2 means.

OB (FHETOS® Botkh 0RO ' HBEH 2580B0s.

UNIT-V

(a) Advantages and disadvantéges of Non-parametric tests.

@ 5TPBA%H SBEL JoFeTen, WHeEredd 9980306.
(b) Difference b/w parametric and non parafnetric tests.
ST R0HOL, ©STBAH 385 D0y Brren Fra0s.
Or
(a) One sample sign test.
RBETdE KHothe HBE,

(b) Two samples sign test.

Botk (SAETeD KHKXe S8,
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